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ATTEMPT ALL QUESTIONS. (40 marks)

1. Arrange these numbers from the largest to the smallest. (4 marks)
a)119, 194, 149, 191
b) 900; 1000; 800; 200

2. Use the table of place values to group numbers into hundreds(H),

tens(T), ones (O). (4 marks)
a) 368=...... H...... T...... O
b) 415=...... O...... H..... T

3. Write the following numbers in figures or in words. (5 marks)
A) 90 e

b) Seven hundred seven .........cccooviiiiiiiiiiiiiinnnn.n.

4. Calculate: (4 marks)
728 + 151 = .............
5. Answer by True or False: (2 marks)

A fraction has:

a) Numerator and denominator only.
b) Numerator, fraction bar and denominator.

6. Work out: (4 marks)
500cm - 15dm = ........ dm-=.......... cm
7. Observe the table of items below and answer to the question. (5 marks)
Items Price of 1 item
1.Mango 200Frw
2.0range 100Frw
3.Notebook 400Frw
4 .Pencil 100Frw

Kaneza buys 1 mango and lpencil and 2 oranges.

How much money does she pay?



8. Name the following lines: (3 marks)

a) —

b)

AN

.

AN

9. A rectangular garden has 25m of length and 12m of width.

c)

Calculate its perimeter. (5 marks)

10. Find the missing numbers.
a) 100; 110; 120; 130; ..... y eenns 160. (2 marks)
b) 400; 500; 600; ___; , 900. (2 marks)
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ANSWER 1:

a) 191, 149, 119
b) 1000; 900; 800; 200

ANSWER 2:
a) 368= 3H6T8O
b)415= 50 4H 1T

ANSWER 3

a) 995: Nine hundred ninety-five
b) Seven hundred seven ...... 707

ANSWER 4
728

+151

879

ANSWER 5
a) False

b) True
ANSWER 6
500cm=50dm
500cm - 15dm = 35 dm
=350cm
ANSWER 7
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Kanyana paid (100Frw x 2) + 400Frw = 600Frw 4 marks

She paid 600F
ANSWER 8

a. zigzag line
b. oblique line

c. horizontal line
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ANSWER 9

P=(L+W)x2
Perimeter = (25m+12m) x2
=74m
ANSWER 10

a) 100; 110; 120; 130; 140; 150; 160
b) 400; 500; 600; 700; 800; 900
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